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1 Bosnian/Croatian/Montenegrin/Serbian (BCMS)

1.1 Scenarios

(1) NON-CONSERVATIVE INTRANSITIVE SCENARIO
Firma Spedex se nalazi nedaleko od jednog zabacenog sela. Nekolicina ljudi iz sela radi
tamo. Firma poStuje rodnu ravnopravnost, pa su polovina zaposlenih Zene.

) NON-CONSERVATIVE TRANSITIVE SCENARIO
Dve rivalske firme Spedex i Transkom zaposljavaju otprilike isti broj ljudi. I dok su veéina
zaposlenih u firmi Transkom muskarci, polovina zaposlenih u firmi Spedex su Zene.

3) CONSERVATIVE INTRANSITIVE SCENARIO
Firma Spedex se nalazi nedaleko od jednog zabacenog sela. Spedex zaposljava polovinu
Zena iz tog sela.

%) CONSERVATIVE TRANSITIVE SCENARIO
Dve firme, Spedex i Transkom, nalaze se nedaleko od jednog zabacenog sela. Te dve
firme su stoga glavni poslodavci mesStanima sela. I dok ve¢ina muskaraca iz sela radi u
Transkomu, polovina Zena iz sela radi u Spedexu.

1.2 Test items

) Zanimljivo je da pedeset posto Zena radi u firmi Spedex.
interesting is that fifty. NOM percent women.GEN works in company.LOC Spedex

(6) Zanimljivo jeda u firmi Spedex radi  pedeset posto Zena.
interesting is that in company.LOC Spedex works fifty.NOM percent women.GEN

@) Zanimljivo je da pedeset posto Zena zapoS§ljava firma Spedex.
interesting is that fifty. ACC percent women.GEN employs company.NOM Spedex

(8) Zanimljivo je da firma Spedex zaposljava pedeset posto  Zena.
interesting is that company.NOM Spedex employs fifty.ACC percent women.GEN
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2 Bulgarian
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Scenarios

NON-CONSERVATIVE INTRANSITIVE SCENARIO

Firma Kaloma se namira nedalec ot edno selo, koeto inace e dosta izolirano. Njakolko
dusi ot seloto rabotjat vdv firmata. Firmata poddirZza ravenstvo na polovete i polovinata ot
sluzitelite j sa Zeni.

NON-CONSERVATIVE TRANSITIVE SCENARIO

Dve konkurentni firmi, Pirapo i Ketara, imat priblizitelno ednakdv broj sluziteli. Poveceto
ot sluZitelite na Pirapo sa méZe, a polovinata ot sluZitelite na Ketara sa Zeni.

CONSERVATIVE INTRANSITIVE SCENARIO
Firma Kaloma se namira nedale¢ ot edno selo, koeto inace e dosta izolirano. Povece ot
polovinata Zeni ot seloto sa sluziteli na firmata.

CONSERVATIVE TRANSITIVE SCENARIO

Firmite Pirapo i Ketara sa nedaleC ot edno selo, koeto inace e dosta izolirano. Podari tazi
pricina Pirapo i Ketara sa osnovite rabotodateli na Zitelite na seloto. Makar ¢e poveZeto ot
maiZete v seloto rabotjat v Pirapo, polovinata ot Zenite v seloto rabotjat v Ketara.

Test items

Interesno, Ce petdeset procenta Zeni  rabotjat vav firma Kaloma.
interesting that fifty percent women work in company Kaloma
‘It is interesting that 50% of the workers at the company Kaloma are women.

B

Interesno, ¢e vav firma Kaloma rabotjat petdeset procenta Zeni.
interesting that in company Kaloma work fifty percent women
‘It is interesting that 50% of the workers at the company Kaloma are women.

B

Interesno, Ce petdeset procenta Zeni e naela firma Ketara.
interesting that fifty percent women is hired company Ketara
‘It is interesting that the company Ketara has hired 50% women.’

Interesno, ¢e firma Ketara e naela petdeset procenta Zeni.
interesting that company Ketara is hired fifty percent women
‘It is interesting that the company Ketara has hired 50% women.’

Interesno, Ce petdeset procenta ot Zenite rabotjat vav firma  Kaloma.

interesting that fifty percent of women.DEF work in company Kaloma
‘It is interesting that 50% of the women work at the company Kaloma.’

Interesno, ¢e vav firma Kaloma rabotjat petdeset procenta ot Zenite.
interesting that in company Kaloma work  fifty percent of women.DEF
‘It is interesting that 50% of the women work at the company Kaloma.’

Interesno, Ce petdeset procenta ot Zenite e naela firma Ketara.
interesting that fifty percent of women.DEF is hired company Ketara
‘It is interesting that the company Ketara has hired 50% of the women.’

Interesno, ¢e firma Ketara e naela petdeset procenta ot Zenite.
interesting that company Ketara is hired fifty percent of women.DEF
‘It is interesting that the company Ketara has hired 50% of the women.’
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3 Czech

3.1 Scenarios

21 NON-CONSERVATIVE INTRANSITIVE SCENARIO
Spolecnost Spedex se nachazi v blizkosti jinak odlehlé vesnice. Nékolik lidi z vesnice tam
pracuje. Spole¢nost Spedex se fidi podle principu genderové rovnosti, a proto polovina
jejich zaméstnanct jsou Zeny.

(22) NON-CONSERVATIVE TRANSITIVE SCENARIO
Dvé soupefici spoleCnosti Spedex a Bustrans maji zhruba stejny pocet zaméstnancu.

Zatimco vétSina zamé&stnancl spolecnosti Bustrans jsou muZi, polovina lidi zaméstnanych
ve spolec¢nosti Spedex jsou Zeny.

23) CONSERVATIVE INTRANSITIVE SCENARIO
Spole¢nost Spedex se nachdzi v blizkosti jinak odlehlé vesnice. Spolecnost Spedex
zaméstnava polovinu Zen, které bydli v této vesnici.

24) CONSERVATIVE TRANSITIVE SCENARIO
Dvé spolecnosti Spedex a Bustrans se nachdzeji v blizkosti jinak odlehlé vesnice. Spole¢nosti
Spedex a Bustrans jsou proto hlavnimi zaméstnavateli pro obyvatele této vesnice. Zatimco
vétSina muzu z vesnice je zaméstndna ve spoleCnosti Bustrans, polovina Zen z vesnice
pracuje ve spolecnosti Spedex.

3.2 Test items
(25) Je zajimavé, Ze padesit procent Zen pracuje ve spolecnosti  Spedex.
is interesting that fifty.NOM percent women.GEN works in company.LOC Spedex

(26) Je zajimavé, Ze ve spoleCnosti  Spedex pracuje padesidt procent Zen.
is interesting that in company.LOC Spedex works fifty.NOM percent women.GEN

27) Je zajimavé, Ze padesidt procentz  Zen pracuje ve spolecnosti  Spedex.
is interesting that fifty.NOM percent from women.GEN works in company.LOC Spedex

(28) Je zajimavé, Ze ve spoleCnosti  Spedex pracuje padesdt procentz  Zen.
is interesting that in company.LOC Spedex works fifty.NOM percent from women.GEN

(29) Je zajimavé, Ze padesat procent Zen zamestnava spolecnost Spedex.
is interesting that fifty. ACC percent women.GEN employs  company.NOM Spedex

(30) Je zajimavé, Ze spoleCnost Spedex zaméstnava padesit procent Zen.
is interesting that company.NOM Spedex employs  fifty.ACC percent women.GEN

4 German
4.1 Scenarios

a3 NON-CONSERVATIVE INTRANSITIVE SCENARIO
Die Firma Kaloma befindet sich nicht weit weg von einem Dorf, das ansonsten recht
abgelegen ist. Einige Leute aus dem Dorf arbeiten dort. Kaloma achtet auf Gendergleich-
stellung, und die Hilfte ihrer Angestellten sind Frauen.

(32) NON-CONSERVATIVE TRANSITIVE SCENARIO
Die beiden konkurrierenden Firmen Birapo und Ketara haben ungefihr gleich viele
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Beschiftigte. Wihrend die meisten Angestellten bei Birapo ménnlich sind, ist die Hélfte
der Beschiiftigten bei Ketara weiblich.

CONSERVATIVE INTRANSITIVE SCENARIO
Die Firma Kaloma befindet sich nicht weit weg von einem Dorf, das ansonsten recht
abgelegen ist. Kaloma beschiftigt die Hélfte der Frauen aus dem Dorf.

CONSERVATIVE TRANSITIVE SCENARIO

Die beiden Firmen Birapo und Ketara befinden sich nicht weit weg von einem Dorf, das
ansonsten recht abgelegen ist. Deswegen sind diese beiden Firmen die Hauptarbeitgeber
der Dorfbewohnerinnen und -bewohner. Wihrend die meisten Ménner aus dem Dorf bei
Birapo angestellt sind, arbeitet die Hilfte der Frauen aus dem Dorf bei Ketara.

Test items
Es ist interessant, dass fiinfzig Prozent Frauen bei der Firma  Kaloma
it is interesting that fifty.NOM percent.NOM women.NOM at the company Kaloma
arbeiten.
work

‘It is interesting that 50% of the workers at the company Kaloma are women.’

Es ist interessant, dass bei der Firma  Kaloma fiinfzig = Prozent Frauen

it is interesting that at the company Kaloma fifty. NOM percent.NOM women.NOM
arbeiten.

work

‘It is interesting that 50% of the workers at the company Kaloma are women.’

Esistinteressant, dass fiinfzig Prozent Frauen die Firma Ketara

it is interesting that fifty.ACC percent. ACC women.ACC the.NOM company.NOM Ketara.NOM
beschiftigt.

employs

‘It is interesting that the company Ketara employs 50% women.’

Esistinteressant, dass die Firma Ketara fiinfzig Prozent Frauen

it is interesting that the.NOM company.NOM Ketara.NOM fifty. ACC percent. ACC women.ACC
beschiftigt.

employs

‘It is interesting that the company Ketara employs 50% women.’

Es ist interessant, dass fiinfzig  Prozent der Frauen bei der Firma

it is interesting that fifty.NOM percent.NOM the.GEN women.GEN at the company
Kaloma arbeiten.

Kaloma work

‘It is interesting that 50% of the women work at the company Kaloma.’

Esistinteressant, dassbeider Firma  Kaloma fiinfzig Prozent der Frauen

it is interesting that at the company Kaloma fifty. NOM percent.NOM the.GEN women.GEN
arbeiten.

work

‘It is interesting that 50% of the women work at the company Kaloma.’
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Esistinteressant, dass fiinfzig Prozent der Frauen die Firma
it is interesting that fifty.ACC percent.ACC the.GEN women.GEN the.NOM company.NOM
Ketara beschiftigt.

Ketara.NOM employs
‘It is interesting that the company Ketara employs 50% of the women.’

Esistinteressant, dass die Firma Ketara fiinfzig Prozent der
it is interesting that the.NOM company.NOM Ketara.NOM fifty. ACC percent. ACC the.GEN
Frauen beschiftigt.

women.GEN employs
‘It is interesting that the company Ketara employs 50% of the women.’

Macedonian

Scenarios

NON-CONSERVATIVE INTRANSITIVE SCENARIO

Firmata Kaloma se naoga vo okolinata na edno izolirano selo. Nekolku luge od seloto
rabotat tamu. Bidejki firmata se pridrzuva kon principot na rodova ednakvost, pola od
nivnite vraboteni se Zeni.

NON-CONSERVATIVE TRANSITIVE SCENARIO
Dvete konkurentni firmi Pirapo i Ketara imaat okolu ist broj na vraboteni. Dodeka najgolem
del of vrabotenite na firmata Pirapo se maZi, pola od vrabotenite na firmata Ketara se Zeni.

CONSERVATIVE INTRANSITIVE SCENARIO
Firmata Kaloma se naoga vo okolinata na edno izolirano selo. Firmata gi vrabotuva pola
od Zenite od seloto.

CONSERVATIVE TRANSITIVE SCENARIO

Dvete firmi Pirapo i Ketara se naogaat vo okolinata na edno izolirano selo. Poradi toa,
firmite Pirapo i Ketara se najgolemite vrabotuvadi na Zitelite od toa selo. Dodeka najgolem
del od maZite od seloto rabotat za firmata Pirapo, pola od Zenite od seloto rabotat za firmata
Ketara.

Test items

Interesno e Sto pedeset procenti Zeni  rabotat vo firmata Kaloma.
interesting is that fifty =~ percent women work in firm.DEF Kaloma
‘It is interesting that 50% of the people working at the company Kaloma are women.

>

Interesno e Sto vo firmata Kaloma rabotat pedeset procenti Zeni.
interesting is that in firm.DEF Kaloma work fifty = percent women
‘It is interesting that 50% of the people working at the company Kaloma are women.’

Interesno e Sto pedeset procenti Zeni  vrabotuva firmata Ketara.
interesting is that fifty =~ percent women employs firm.DEF Ketara
‘It is interesting that the company Ketara employs 50% women.’

Interesno e $to firmata Ketara vrabotuva pedeset procenti Zeni.
interesting is that firm.DEF Ketara employs fifty = percent women
‘It is interesting that the company Ketara employs 50% women.’

Interesno e §to pedeset procenti od Zenite rabotat vo firmata Kaloma.
interesting is that fiftty = percent of women.DEF work in firm.DEF Kaloma
‘It is interesting that 50% of the women work at the company Kaloma.’
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Interesno e $to vo firmata Kaloma rabotat pedeset procenti od Zenite.
interesting is that in firm.DEF Kaloma work fifty = percent of women.DEF
‘It is interesting that 50% of the women work at the company Kaloma.’

Interesno e $to pedeset procenti od Zenite vrabotuva firmata Ketara.
interesting is that fiftty =~ percent of women.DEF employs firm.DEF Ketara
‘It is interesting that the company Ketara employs 50% of the women.’

Interesno e $to firmata Ketara vrabotuva pedeset procenti od Zenite.
interesting is that firm.DEF Ketara employs fifty = percent of women.DEF
‘It is interesting that the company Ketara employs 50% of the women.’

Interesno e Sto pedeset procenti od Zenite gi vrabotuva firmata Ketara.
interesting is that fifty = percent of women.DEF CL employs firm.DEF Ketara
‘It is interesting that the company Ketara employs 50% of the women.’

Interesno e Sto firmata Ketara gi vrabotuva pedeset procenti od Zenite.
interesting is that firm.DEF Ketara CL employs fifty = percent of women.DEF
‘It is interesting that the company Ketara employs 50% of the women.’

Polish

Scenarios

NON-CONSERVATIVE INTRANSITIVE SCENARIO

Firma Ekspol znajduje si¢ nieopodal lezacej na uboczu wioski. Paru mieszkancéw wioski
tam pracuje. Firma Ekspol kieruje si¢ zasada parytetéw, w zwiazku z czym polowa jej
pracownikéw to kobiety.

NON-CONSERVATIVE TRANSITIVE SCENARIO

Dwie konkurujace ze soba firmy Ekspol oraz Transkom maja mniej wigcej tyle same
pracownikéw. Podczas gdy wigkszos¢ pracownikéw firmy Transkom to mezczyZni,
potowa zatrudnionych w firmie Ekspol to kobiety.

CONSERVATIVE INTRANSITIVE SCENARIO
Firma Ekspol znajduje si¢ nieopodal lezacej na uboczu wioski. Firma Ekspol zatrudnia
potowe kobiet mieszkajacych w tej wiosce.

CONSERVATIVE TRANSITIVE SCENARIO

Dwie firmy EksPpol oraz Transkom znajduja si¢ nieopodal lezacej na uboczu wioski. W
zwiazku z tym firmy Ekspol i Transkom sa gtéwnymi pracodawcami dla mieszkaficow
wioski. Podczas gdy wigkszo§¢ mezczyzn z wioski jest zatrudnionych w firmie Transkom,
polowa kobiet z wioski pracuje w firmie Ekspol.

Test items

To ciekawe, ze pigcdziesiat procent kobiet pracuje w firmie Ekspol.
this interesting that fifty. NOM percent women.GEN works in company.LOC Ekspol

To ciekawe, ze w firmie Ekspol pracuje pigédziesiat procent kobiet.
this interesting that in company.LOC Ekspol works fifty.NOM percent women.GEN

To ciekawe, ze pigcdziesiat procent sposréd kobiet pracuje w firmie
this interesting that fifty.NOM percent among women.GEN works in company.LOC
Ekspol.

Ekspol
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(64) To ciekawe, ze w firmie Ekspol pracuje pigédziesiat procent sposréd kobiet.
this interesting that in company.LOC Ekspol works fifty. NOM percent among women.GEN

(65) To ciekawe, ze pigcdziesiat procent kobiet zatrudnia firma Ekspol.
this interesting that fifty.ACC  percent women.GEN employs company.NOM Ekspol

(66) To ciekawe, ze firma Ekspol zatrudnia pigédziesiat procent kobiet.
this interesting that company.NOM Ekspol employs fifty. ACC  percent women.GEN

7 Russian
7.1 Scenarios

67) NON-CONSERVATIVE INTRANSITIVE SCENARIO
Kompanija Kaloma naxoditsja nedaleko ot derevni, kotoraja udalena ot vsego ostal’nogo.
Neskol’ko Celovek iz derevni rabotajut tam. Kompanija sobljudaet gendernoe ravenstvo, i
polovina ee rabotnikov — Zens¢iny.

(68) NON-CONSERVATIVE TRANSITIVE SCENARIO
U dvux konkurirujus¢ix kompanij Pirapo i Ketara odinakovoe koli¢estvo rabotnikov. V
to vremja kak bol’Sinstvo rabotnikov kompanii Pirapo — muZ&iny, polovina rabotnikov
kompanii Ketara — Zen$Ciny.

(69) CONSERVATIVE INTRANSITIVE SCENARIO
Kompanija Kaloma naxoditsja nedaleko ot derevni, kotoraja udalena ot vsego ostal’nogo.
Kompanija predostavljaet rabotu polovine Zens¢in étoj derevni.

(70) CONSERVATIVE TRANSITIVE SCENARIO
Kompanii Pirapo i Ketara naxodjatsja nedaleko ot derevni, kotoraja udalena ot vsego
ostal’nogo. Takim obrazom, Pirapo i Ketara — glavnye rabotodateli dlja Zitelej derevni.
V tom vremja kak bol’§instvo muZ¢in iz derevni rabotaet v kompanii Pirapo, polovina
Zen§Cin iz derevni rabotaet v kompanii Ketara.

7.2 Test items

(71) Interesno, Cto pjat’desjat procentov ZenscCin rabotajut v kompanii Kaloma.
interesting that fiftty. NOM percent.GEN.PL women.GEN work  in company Kaloma

(72) Interesno, ¢to v kompanii Kaloma rabotajut pjat’desjat procentov Zenscin.
interesting that in company Kaloma work  fifty. NOM percent.GEN.PL women.GEN

(73) Interesno, ¢to pjat’desjat procentov ZenscCin derzit na sluzbe kompanija
interesting that fifty. ACC percent.GEN.PL women.GEN holds on service company.NOM
Ketara.
Ketara.NOM

(74) Interesno, ¢to kompanija Ketara derzit na sluzbe pjat’desjat procentov

interesting that company.NOM Ketara.NOM holds on service fifty.ACC percent.GEN.PL
ZensCin.
women.GEN
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8 Slovak

8.1 Scenarios

Scenarios in Czech; same as in §3.1

8.2 Test items
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Je zaujimavé, Ze pit'desiat percent Zien pracuje v spolocnosti ~ Spedex.
is interesting that fifty.NOM percent women.GEN works in company.LOC Spedex
Je zaujimavé, Ze v spoloCnosti  Spedex pracuje pit'desiat percent Zien.

is interesting that in company.LOC Spedex works fifty.NOM percent women.GEN

Je zaujimavé, Ze pit'desiat percent zo  Zien pracuje v spoloCnosti  Spedex.
is interesting that fifty. NOM percent from women.GEN works in company.LOC Spedex

Je zaujimavé, ze v spoloCnosti  Spedex pracuje pit'desiat percent zo  Zien.
is interesting that in company.LOC Spedex works fifty. NOM percent from women.GEN

Je zaujimavé, ze pit’ desiat percent Zien zamestnava spolo¢nost’  Spedex.
is interesting that fifty.ACC percent women.GEN employs  company.NOM Spedex

Je zaujimavé, Ze spolocnost’  Spedex zamestndva pat’desiat percent Zien.
is interesting that company.NOM Spedex employs  fifty.ACC percent women.GEN

Slovenian

Scenarios

NON-CONSERVATIVE INTRANSITIVE SCENARIO

The company Spedex is located not far from a village that is otherwise quite remote. A
few people from the village work there. The company observes gender equality and half
of their employees are female.

NON-CONSERVATIVE TRANSITIVE SCENARIO

The two rivaling companies Spedex and Transkom have about the same amount of em-
ployees. While most of the employees at Transkom are male, half of the employees of
Spedex are female.

CONSERVATIVE INTRANSITIVE SCENARIO
The company Spedex is located not far from a village that is otherwise quite remote. The
company employs half of the women from that village.

CONSERVATIVE TRANSITIVE SCENARIO

The two companies Spedex and Transkom are not far from a village that is otherwise
quite remote. Therefore, Spedex and Transkom are the main employers for the village
inhabitants. While most of the men from the village work at Transkom, half of the women
from the village work at Spedex.

Test items

Zanimivo je,da petdeset odstotkov Zensk dela v podjetju Spedex.
interesting is that fifty. NOM percent ~women.GEN works in company.LOC Spedex
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(86)
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Zanimivo je,da v podjetju Spedex dela petdeset odstotkov Zensk.
interesting is that in company.LOC Spedex works fifty.NOM percent women.GEN

Zanimivo je,da petdeset odstotkov Zensk zaposljuje podjetje Spedex.

interesting is that fifty. ACC percent women.GEN employs company.NOM Spedex

Zanimivo je,da podjetje Spedex zaposljuje petdeset odstotkov Zensk.
interesting is that company.NOM Spedex employs fifty. ACC percent women.GEN

9



